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B W 1T H 269 280 298 578| T » WEHET5 T H 537 582 558 1,140|% ®T 7 T H 1,269  1,594| 1,426 3,020 [f A3 T H 209 257 236 493
w2 T H 375 378 385 763| T » WEET6 T H 397 404 421 825|%r BT 8 T H 537 653 646  1,299|/h 4,612 5,166| 5,184 10,350
B W3 T H 290 339 333 672 &t 9,504 10,303| 10,163| 20,466|H BT 9 T H 1, 362 1,436 1,163 2,599 {%E1T H 99 106 102 208
Ta4ET LT B 155 154 153 307 |k 1= 603 653 679 1,332 JSET1 T H 119 103 101 204| —RE2T H 329 377 390 767
a5y ET2 T A 85 73 69 142|% LW 1T H 328 409 391 800 (A JAMT2 T H 479 521 507| 1,028| “{RE3T H 273 305 315 620
a4 EF3 T A 128 156 171 327|8 L WT2 T H 605 671 642| 1,313 il 9,426 10,820 9,858| 20,678| " {E@E4T H 122 116 127 243
£ L HT 277 250 269 519(# W73 T H 1,528 1,477 1,425 2,902[# 0BT 1T H 794 871 843| 1, 714| " {RESTH 91 107 107 214
FN HT 436 432 441 873|HF L WT 4 T H 769 779 751 1,530 0 #T2 T H 298 366 329 695|3R # 1 T H 73 66 75 141
fif my 214 215 222 437k M1 T H 798 916 844 1,760 ({30 BT 3T H 239 265 259 5243k 2 T H 117 131 137 268
1k HT 140 117 133 250(k P9 2 T H 326 388 402 790\ W ET 4T H 763 728 712  1,440|3R H 3 T H 124 127 112 239
# K T 177 210 209 419k P 3 T H 752 873 912 1,785({r[ 0 BT 5T H 738 736 731 1,467 |4 & A AT 176 160 186 346
5 W] 430 450 465 915 |4 e 459 438 505 943 [T L T 6 T H 1,234 1,288 1,303  2,591|# & 1 T H 56 47 46 93
K o WE HT 491 523 532| 1,055 iiig 445 526 537| 1,063 |{ L BT 7T H 1,120 1,047 1,147 2194|880 & 2 T H 66 66 68 134
W b oE 302 294 302 596| A B F 1T H 279 325 318 643 |7 W ET8 T H 806 862 739  1,60L|f & (L 40 60 70 130
K H o HT 510 534 534| 1,068|K ¥ F2 T H 265 352 340 69237 L BT 9 T H 950 843 939|  1,782|/h a1, 566 1, 668 1,735 3,403
HiafE1T B 202 201 216 417(4 s 1 T H 577 800 746 1,546 ({30 ET10°T H 898 759 762 1,52l 1T A 337 252 277 529
HiafE2T B 259 274 276 5504 SF 2 T H 149 203 199 402 it 7, 840 7,765 7,764| 15,529|%= [ 2 T H 88 97 88 185
HEFnE3T H 305 367 358 725|145 ¥ 3 T H 377 499 442 41| 6 1 T H 191 199 217 416|% [ 3 T A 208 154 151 305
Sip 5,045| 5,247| 5,366| 10,613|4 ¢ 4 T H 606 768 718|  1,486|# 1% 2 T H 1,045 1,325 1,236 2,561/ K1TH 86 110 87 197
B KET 1T H 231 271 263 5344 F 5 T H 517 637 680 1,317|# #& 3 T H 364 428 443 871/ AR2T H 43 53 50 103
B KET2 T H 359 401 380 781 il 9,383| 10,714| 10,531 21,2454 # 1 T H 1,367 1,442 1,512  2,954|/h@ K3 T H 175 201 208 409
B KET3 T H 212 255 258 SI3|I & M1 T H 476 425 510 9354 # 2 T H 1,044 1,096 1,156 2,252/ K4 T H 224 168 224 392
Eil1TEH 668 625 655 1,280 F #E2 T H 827 776 808 1,584(4 # 3 T H 872 974 914 1,888 |/ K5T H 77 77 85 162
Ei2TH 728 826 847 1,673|3 F #3 T H 1,117 1,071 1,105 2,176|4 # 4 T H 0 0 0 O R 1T H 269 177 245 422
EiM3TH 402 499 494 993 H M4 T H 778 701 675 1,376(4 # 5 T H 176 61 147 208[5 R 2 T H 247 283 268 551
Ei4T B 792 814 919 1,733 F #5 T H 1, 009 936 967 1,903 it 5, 059 5, 525 5,625 11,150 R 3 T H 236 183 208 391
Ei5TH 538 535 541 1,076 |3 & ##6 T H 393 429 398 827 /I &t 54,068| 57,973| 57,070| 115,043 |/} i 1,990 1, 755 1,891 3, 646
EileT H 223 218 259 ATTMR » i1 T H 400 420 425 8450/ 1 T H 353 412 373 785(p A1 T H 222 169 241 410
EW7TH 487 505 438 9434k » 2T H 764 648 765 L4132 T H 417 456 460 916 A 2 T H 223 228 160 388
E 8T H 274 304 295 599 |fifi [d BT 1 T H 332 399 383 782|0M 3 T H 452 528 498 1,026 A 3 T H 103 123 110 233
EioT H 4 4 4 8| [ mT 2 T H 718 799 789 1,588 (Fn HAET1 T H 208 239 241 480(p A 4 T H 60 53 53 106
KHEE1LTH 307 326 325 651 |fifi [d BT 3 T H 564 587 538 1,125(fn HET2 T H 292 311 337 648(p A5 T H 76 69 72 141
K HEE2T H 328 306 296 602|fifi [d BT 4 T H 433 408 400 808|[#E # 1 T H 158 200 186 386|pk A6 T A 36 46 40 86
K HEE3T H 316 390 356 746 it 7,811 7,599| 7,763| 15,362|HE 45 2 T H 172 186 213 39|k A7 T A 68 73 74 147
K HEE4T H 310 373 362 735(H BT 1 T H 1,203 1,413 1,329 2,742\ 4 3 T H 184 215 207 422|p A8 T A 93 110 84 194
K HEEST H 313 352 354 7068 BT 2 T H 830 973 845  1,818|HF # 4 T H 230 264 249 513|/ 2t 881 871 834 1,705
T WET1 T H 655 719 710|  1,429|%r My 3 T H 1,549 1,645 1,521 3,166 |ffF # 5 T H 528 640 660 1,300 (Hi 58 AF & &F| 9,049 9,460| 9,644 19,104
T WiET2 T H 546 599 575\  1,174|% T 4 T H 739 806 796 1,602|HF # 6 T H 544 648 578  1,226|4 2+ 63,117 67,433| 66,714 | 134, 147
T4 WEHT3 T H 399 482 417 899(¥r M 5 T H 1,239 1,552 1,402 2,954[Hh AHT1 T H 365 411 410 821
T4 WEHT4 T H 478 513 436 949(%r BT 6 T H 100 124 122 246 |7l AT 2 T H 500 399 536 935




